TCP Finite State Machine
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Three-way Handshake

Active Side Passive Side
(Connect) (Accept)

SYN, SEQ = N, AWS=X1

SYN + ACK, SEQ =M, ACK =N + 1, AWS=X2

ACK, ACK=M + 1

TCP Three-way Handshake Connect
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Sender Finite State Machine
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TCP Sender Algorithm

switch (event)
case Send executed:
1f (WS + L > AWS) Block ();
else
buffer message
Next Byte = Next Byte + L
1f (unsent bytes > MSS) || (Push specified)
SendSegment ()
LBS += Segment Size
WS += Segment Size
case Inactivity Timer expilres:
SendSegment ()
LBS += Segment Size
WS += Segment Size
case ACK received:
1f (ACK outside Window) drop
LAR = ACK — 1; Stop timers, release block
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TCP Receiver Algorithm

switch (event)
case Received executed:
Send N bytes up
NB += N
case Packet receilved:
if (SEQ + L > AWS)
Drop
else
buffer message at SEQ
1f (no holes 1n buffer)
NBE = SEQ + L + 1
Send NBE as ACK.

case Inactivity Timer Expilres:

Send NBE as ACK.
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